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T O 3x" —2x° —9x? 44, 3x%-3x% - 6x ©] F| -5 F5HH?

DO (x-1)(x-2) @ (x+1)(x+2) @(x+1)(x—2)
@ (x-1)(x-2) © (x+1)(x-1)

B

3xt —2x% —9x% +4
=(x+1)(x=-2)(x+1)(3x-2)
3x3-3x2—6x=3x(x-2) (x+1)
S EYEeRE L (x-2) (x+ 1)
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(1+ 2x + 3x2 + 4x 4 5x%)3 ©] Z7|A] o]l A]
O] Ag 29 Agets AL etk

kA (1 + 2x + 3x2 + 4x3)3 o] AA A A x3 9] A5} (1 +
2x + 3x% 4 4x® + 5x%)3 O] A A x3 ] AGE 2

~a=b .. a-b=0




3. AFx vty =6, XXy +x?+x+y=632 THZAZL o, x2 +)?
o] k27
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O 13 ®3—2 ® 55 @69 ® 81
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y+x2 +x+y
=xy(x+y) + (x+y)
= (xy+1)(x+y)
=T7(x+y) =63,
x+y=9,xy=6
2 +y?=(x+y)?-2xy
=81-12 =69




4. (1-x-x)? =ag+ar1x+ax® + -+ + agox?® + asox®0 0]zt & o,
ap +az +ag + -+ + aso 2 T2

@0 @ 1 @ 224 @ 225 @ 250

S5 ‘
(1-x-x%)? =ag+ayx +azx® + - + asox™®

x =12 S| tjdstH

—l=ay+ay+az+---+as--D

x = —1& o] et

l=ay—a1 +a2—a3+---—a4g+a5o---®

O+@: 2(ag+az+as+---+as) =0
ag+as+ayg+ .. +aso =0




T f(x) = 2+ px+q 2 g(x) = FEIFE ATE e o

F(V241) =0, g(V2+1) =2+ V20°|t}

o217
@x—i—l @ x-1
@ —x-1 ® 2x+1

ol ™, g(x) & f(x)
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g()E f(x) 2 U= 52 0(x)
UM2)E ax + bt oFH
g(x) = f(x)O(x) +ax +b

La+b+av2=24+ 2
La=1b=1
wabA] ek YA x4 1

g(V2+1) = f(V2+1)Q(V2+1) +a(V2+1) +b
=a(V2+1)+b (0 f(V2+1)=0)




FA (x+py)(x+qy+r)? ot ol W, p2+42+r2
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[ =3 4+ x%y — xy? + 2x2 — 2y? + x — )]
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W=+ aty—x?+2x2-2y> +x-y

= (x=9)(® + 2y + %) + y(x = y) +2(x + y)(x =) +(x-y)
= (=Y +y)?+2(x+y) +1}

=(x-y)(x+y+1)°

p=-lq=1r=1

P4 +rr=3




7. x+y+z=0,22+y +22 =4L o, x* +y* + 4 9] G 3t}

> E:

> Het: 8

(x+y+2)2=x>+y>+22+2(xy +yz +zx)
0 =4+ 2(xy + yz + zx)
Lxy+yztzx=-2

(xy + yz + 2x)?

2292 + 222 + 22x2 + 2(xy%z + xy2% + x2y2)
= x?y? +y22% + 22x% + 2xyz(x + y + 2)
4=x22+y?22+22x2+0

2y 4272 4 2% = 4

(2 +y* +22)2 =xt + yt + 21+ 2(x%? + 3222 + 22x2)
16=x'+y'+24+2-4
. x4+y4—|—z4=8




Ex-aZ e RS 01(x), O1(0)Ex-0 2 UE T
2(x) 2F ot} o]ot A RS ALSE o, 0,(x) E x-a=E U=
= Qur1(x) B A f(0)E (x- )" 28 Y YHAE R(x) = &

f(x)% X—ax 1’]"‘]—1': %—% Ql(x),

U 2IE R, |2} o

f(x) = (x= @) Q1 (x) + Ry 1A

0.(x) € x - a & UE UHAE R,y °12t SHH
f(x)=(x—a){(x — @)Q2(x) + R} + Ry

= (x—@)?Q2(x) + (x—a)Ry + Ry
(x—a)*{(x - @)Qs(x) + Rs} + (x— )Ry + Ry
(x—a)3Q3(x) + (x— @)?R3 + (x —a)Ry + Ry

= (x=@)"Qu(x) + (x —@)" 'Ry +

------ + (x—a)Ry + Ry
et f(x) € (x-a)" 22 Y YHAE
R(x) 2} o}
R(x)=(x—a)"'R,+ -+ (x—@)Ra + Ry
. R(@) =Ry = f(a)




xoll T TFA] £() S 2 4+ 12 PR U7} x4 10]3, x -1
2 s Ul A7k dolek, o T f(x) E (2 4 1)(x - 1) 2 s
wo] pof 2] o] A4S Faolet.

fE @@ +1)(x-1)2 Heds g9 H& 9x), HHAE
ax® + bx + c(H, a, b, c = AS) 211 5HE,

f(x)= (2 +1)(x-1)0(x) + ax®> + bx+ ¢

T8 f(x)E 2%+ 12 HEH YA x4+ 10] B2

)= +D(x-1D)0x)+a(x®>+1)+ (x+1)

E f(x)E x- 12 HFH YmZ 7t 40|82
f(l)y=2a+2=4%"a=1

et ax? +bx+c=a(x®+ 1) +x+1=x>+x+2
SR U R 9] A4t 2




10.

22 THFA] A 4 14 (x+ 1) 0] 2+ x4 1 2 LhrolEo] 114 ¢l
S A% g PR BT (o] Yue 55 A=
Jag 2L

w7t OFA 2 4+ x4+ 1= 0= H=5hs Fol2hal sh »? +
w+1=0
LWl w#l
(i)n=3k(k=0,1,2,---) o]¥
W+ 1+ (w+1)"=(9)
(ii)n=3k+1(k=0,1,2,---)°]
W +1+ (@ +1)” = (0O)
(i) n =3k +2(k=0,1,2,---)°]HA
W+ 1+ (w+1)*=0
oHERA] (1), (i), (iil) oA Fet=nd (©) oIt

@ 1,0,3k @ 2,1,3k+1 ® 3,0,3k + 2
@)s3.0.3 ® 2.1.3k

B \
(i)n=3kol4d
W+ 14 (w+1)2
=%+ 1+ (w+1)%
= WO + 1 + (—w?)B
= (W3)%* 4+ 1 + (w3)%
=11 16 w? =1)=(3) £0
(ii)n=3k+1°]H
W+ 1+ (w+1)2
=% +2+1+ (w+1)%*+2
= 0% w? + 1+ (—w?)5 42
= w? + 1+ (—w?)5(—w?)?
=w’+1+w=(0)
(i) n=3k+20°]9
W+ 1+ (w+1)"=0
whabA] (1), (ii), (i) oA Fah= n (3k) o]t




